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SARDAR PATEL UNIVERSITY
F.Y. B.Com. (EXTERNAL) EXAMINATION (NEW)
MONDAY, 8" APRIL,
2019
02.00 P.M. TO 05.00 P.M.
UBE1CCOMO3: BUSINESS MATHEMATIC_S
Total Marks: 100
Explain following terms: [06]
1. Singleton set 2. Subset 3. Difference of two sets
If A={1,3,5,6,7,9}, B={2,3,4,6,8) and U = {x:1 <x <10,x € N} then verify De [07]
Morgan’s laws.
Define determinant up to order three and find the value of i _94" 071
OR
IfA={1,2,3,4} and B= (3, 5, 7). _ [06]
(i) AUB (D AnB (iti) A—B
4 -1 -2 5 2 4 (07
HAE[_l 3},3:[3 5 andq:[_l ’ } |
2 0 5 2 3 =2
Thenfind 1.4 + ¢ 2.A+B+C 3. 34-4B + C
_I3 2 3 2 [07]
ifA=[; ZJandp = 5 1) find 4B + BA. Also find|4].
Define the following terms: [06]
(1) Zero Matrix (ii) Square Matrix (iii) Identity Matrix

(iv) Symmetric Matrix

Mr. X has obtained a loan to buy a car. This loan is to be repaid in 10 installments of Rs. [07]
1, 75,000 each at the end of every year. If the rate of compound interest is [2%, find the
amount of the loan. :

The Population of a city is 49,949 at present. Before seven years the population of a city  [07]
was 35,498. Find the rate of growth of the population of the city.

OR
Explain: Compound Interest, Annuity and Sinking fund. [06]

Mr. Ajit purchased a machine for Rs, 600,000 on 1-1-2000. The expected life the [07]
machine is 10 years. After that period he will have to buy a new machine. Tt is expected

that he will have to pay tlie pricé 1.5 times higher compared to the price today. In order

to make this provision, what amount he should deposit on every 31st December at 15%

rate of compound interest? : '

From the following data find the form of f(x). Also find f {3) from the obtained [07]
function f(x). :
X 0 1 2
F(x) 8 6 4
Define interpolation and extrapolation, Write its importahce. [06]

In how many ways can 5 boys and 5 girls be seated at a round table so that no two girls [07]
may be together?

How many different words can be formed using the following words without repetition?  [07]
(1) AMARNAGAR  (2) ALLAHABAD (3) ACTION

OR

@ | (7To)
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Find y(70) for the following data .
X 35 60 65 75 80
y(x) | 20 | 20 | 37 | 57 | 68

Do as directed:
3!
1. Evaluate: | o £ +3C, +a+1
2. Findn, if, P, = 840,

In how many ways a committee of 4 persons can be formed from 5 boys and 3 girls in
which there are at most 2 girls?

Show that the equation of a line having slope m and Y- intercept ¢ isy = mx + ¢.
Find a if the distance between (~3, —2) and (&, 1) is 3410 .

Solve the following LPP by Graphical method.
Max, Z=3x+2y
Sub.to 2x+y <10 , x+y<6x,y=0
. ~ OR
Write uses of Linear Programing Problems.
If the equation of line is 3x + 2y == 6, then find slope, X- intercept and
Y- intercept of the line.

Find an initial basic feasible solution to the following transportation problem by Matrix
minima method.

P Q R S Supply
A 20 30 50 10 2
B 70 30 40 60 6
C 40 9, 70 20 7
Demand 3 3 4 5 15

Write rules of derivative.

Obtain the initial basic feasible solution to the following transportation problem by N-W
Corner method.

. 1dy.
Find =

-

A B | C D | -Supply
Fl 6 1 19 3 70
Fz il |5 2 8 55
F3 w |l 12 4 7 90
Demand 85 35 50 45

1. y=e*+(x+2)(x—-3)
2. y=3t24+5t+7, x=7t*-5t+8
' OR
Differentiate following w.r.t, x:
l. y=e*-5%
2. y=x"-3x" +4x+9
2

Find %——}i ify = 3x* + 5x% — 2x% + 7x + 9.

162

Find the maximum and minimum values of the following function,f(x) = x* —3x+4.,
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x 55 60 65 75 80
y{x). |20 29 37 57 68
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P Q R S ELT
A 20 30 50 10 2
B 70 30 40 60 6
C 40 70 20 7
ot 3 4 3 15
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A | B | ¢ | p [ wai
Fl 6 1 9" 3 70
F2 11 5 2 8 53
F3 10 12 4 7 90
Hiat 85 35 50 45
ﬂ%ﬂﬁl:
dx
L oy=e*+(x+2)(x-3)
2, y=3t*+5t+7, x=7t>—5t+8

ol Aette] x A Rsctet 53,

1.
2.

2
Ry = 3x* + 5x% — 2x2 +-7x + 9 82l %CZ S

y=x"~3x" +4x+9

CHAc

2l fEx) = %" =3x+4 QA oMot WA oot FHe A,

.._.-—-.,7[-—-—-‘

(&)

[06]

[07]

[07]

[06]
[06]
[08]

[06]
[06]
[08]

106}
[06]

[08]

[06}

[06]

[08]



